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3.090 m3 = 1.500 * 1.030 * (2.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) B o= (GEHE X ER - B X LTIER) + @EElE X EL X RELER + ATk + fIETER))
1.090 m3 = ((1.500 * 0.380 — 0.025) * 2.000) + (1.500 * 0.380 * (0.000 + 0.000 + 0.000))
BETHOREL ) B = (MEFEEE X JBER) - (REEHEKE X ZEES) X MFEER + (FREHEEE X B X (ELER + {RIETER + TR + MEER)
0.600 m3 = ((1.500 * 0.000) — (1.500 * 0.000)) * 0.000 + ((1.500 * 0.200) * (2.000 + 0.000 + 0.000 + 0.000))
v Aoy = { B = WHIELUE LR
(HEH1) 2.340 m3 = 2.340
B Ay e 5 B = WHIEE R
i) 3.090 m3 = 3.090

BB A KE R



T I % E &t E E (& & % )
HETEEEES : 27002200
IEES 07 IEAH |Pp150KEAREIS —+&S 02 —+8%  |EEUE(ERE)
JE ] = # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 - 1.500) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
el . B o= HE X B X (ETER + RELEE + RIEER + MEER)
1.740 m3 = 1.500 * 0.580 * (2.000 + 0.000 + 0.000 + 0.000)
A1 ) B = HE X B X (ETER + REEE + RAIEER + MEER)
2.850 m3 = 1.500 * 0.950 * (2.000 + 0.000 + 0.000 + 0.000)
HhaEE R ) B = HE X (ETER + RIEER + RAER + fEER)
3.000 m2 = 1.500 % (2.000 + 0.000 + 0.000 + 0.000)
IR ) B = HE X (ETIER + RIEER + RAER + fETER)
3.000 m2 = 1.500 % (2.000 + 0.000 + 0.000 + 0.000)
BRARIEIH . B = HE X (ETIER + RIEER + RATER + fiERER)
3.000 m2 = 1.500 % (2.000 + 0.000 + 0.000 + 0.000)
HRARIEIH ? B = HE X (ETER + RIEER + AER + fETER)

3.000 m2 = 1.500 * (2.000 + 0.000 + 0.

000 + 0.000)

BB A KE R



T I % E %+ E E (§ B % )
BHETEES . 27002200[ L) ETE]

ITHEES 07 IR |P150KkERELSE I—+ES 02 IW—rEF  |EETE (Z=AD
A & O S T R T SIS

AP DR L Bl = REE X JEA X (ETER + RIIER + SURIER + EER)

1.740 m3 = 1.500 * 0.580 * (2.000 + 0.000 + 0.000 + 0.000)

AP D B L g = (@RHIE X B - FEA) X LTER) + GEHE X ER X (REEE + RIERE + fEER))

1.090 m3 = ((1.500 * 0.380 — 0.025) * 2.000) + (1.500 * 0.380 * (0.000 + 0.000 + 0.000))

FIERTHORL g = (MFERE X JER) - REREIEEE X PEES)) X fFRTER + (F@miEmE X B X (ETEE + {EEE + RIEEE + BELR)

0.600 m3 = ((1.500 * 0.000) — (1.500 * 0.000)) * 0.000 + ((1.500 * 0.200) * (2.000 + 0.000 + 0.000 + 0.000))

sy E . SHEEMEHIECR = JREIE X B4 X (RLIER + RIELEE + RIBER + MEER)
(Bl A 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
Vs mw Uy | ol = SESEEIE e LR
(Bl A 0.150 m3 = 0. 150
Vs M Uyt . o = mEIE LS L&
(HH) 1.740 m3 = 1.740
b mw Uy ) Yo = WHIE2E LR
(HEH1) 2.850 m3 = 2.850

-3 - BT T A OKIE R



T I % E &t E E (& & % )
RETEEEES ¢ 27002200 [ L #%ETE]
IEES 07 IEAH |Pp150KEAREIS —+&S 03 —+&%  |EEmRERE)
JEi T 1] JEi #o®% L om0 S s KX
el . B o= HE X B X (ETER + RIEEE + RAIEER + MEER)
10. 440 m3 = 0.600 * 0.600 * (29.000 + 0.000 + 0.000 + 0.000)
A1 9 B = HE X B X (ETER + REEE + RAiER + MEER)
10.962 m3 = 0.600 * 0.630 * (29.000 + 0.000 + 0.000 + 0.000)
AR A . B = HE X (ETIER + RIEER + RATER + fEER)
17.400 m2 = 0.600 * (29.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) B = HE X B X (ETER + REEE + RAIEER + MEER)
10. 440 m3 = 0.600 * 0.600 * (29.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) B o= (GEHE X ER - B X LTIER) + @EElE X EL X RELER + ATk + fIETER))
5.887 m3 = ((0.600 * 0.380 — 0.025) * 29.000) + (0.600 * 0.380 * (0.000 + 0.000 + 0.000))
BETHOREL ) B = (MEFEEE X JBER) - (REEHEKE X ZEES) X MFEER + (FREHEEE X B X (ELER + {RIETER + TR + MEER)
0.870 m3 = ((0.600 * 0.000) — (0.600 * 0.000)) * 0.000 + ((0.600 * 0.050) * (29.000 + 0.000 + 0.000 + 0.000))
v Aoy = { B = WHIELUE LR
(A1) 10. 440 m3 = 10. 440
B Ay e 5 B = WHIEE R
i) 10. 962 m3 = 10. 962

BB A KE R




T I % &8 & 8 & (8 & %)

RETEEEES ¢ 27002200 [ L #%ETE]
IEES 07 IEAH |Pp150KEAREIS —+&S 04 —+&%H  |EEmR(ERE)
JEi T 1] JEi #o®% L om0 S s KX
el . B o= HE X B X (ETER + RIEEE + RAIEER + MEER)
87.756 m3 = 0.600 * 0.710 * (206.000 + 0.000 + 0.000 + 0.000)
A1 9 B = HE X B X (ETER + REEE + RAiER + MEER)
67.980 m3 = 0.600 * 0.550 * (206.000 + 0.000 + 0.000 + 0.000)
AR A . B = HE X (ETIER + RIEER + RATER + fEER)
123.600 m2 = 0.600 % (206.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) B = HE X B X (ETER + REEE + RAIEER + MEER)
87.756 m3 = 0.600 * 0.710 * (206.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) B o= (GEHE X ER - B X LTIER) + @EElE X EL X RELER + ATk + fIETER))
41.818 m3 = ((0.600 * 0.380 — 0.025) * 206.000) + (0.600 * 0.380 * (0.000 + 0.000 + 0.000))
BETHOREL ) B = (MEFEEE X JBER) - (REEHEKE X ZEES) X MFEER + (FREHEEE X B X (ELER + {RIETER + TR + MEER)
6.180 m3 = ((0.600 * 0.000) — (0.600 * 0.000)) * 0.000 + ((0.600 * 0.050) * (206.000 + 0.000 + 0.000 + 0.000))
v Aoy = { B = WHIELUE LR
(HEH1) 87.756 m3 = 87.756
B Ay e 5 B = WHIEE R
i) 67.980 m3 = 67.980

BB A KE R



T I % &8 & 8 & (8 & %)

HETEEEES : 27002200
IEES 07 IEEM |P150kEAREIE —+ES 05 —+8%  |EERRERE
JE ] = # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
252.000 m = ((126.000 + 0.000 + 0.000 + 0.000) + ((0.950 — 0.950) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
119.700 m2 = 0.950 % (126.000 + 0.000 + 0.000 + 0. 000)
el . B o= HE X B X (ETER + RELEE + RIEER + MEER)
110. 124 m3 = 0.950 s 0.920 % (126.000 + 0.000 + 0.000 + 0. 000)
A1 ) Bk = (GEHIE X ER - Fmf) X (ETER + MEER)) + (EHE X B X (REER + RIELE))
36.792 m3 = ((0.950 * 0.320 — 0.012) * (126.000 + 0.000)) + (0.950 * 0.320 * (0.000 + 0.000))
HhaEE R ) B = HE X (ETER + RIEER + RAER + fEER)
119.700 m2 = 0.950 % (126.000 + 0.000 + 0.000 + 0. 000)
AR ) B = HE X (ETIER + RIEER + RAER + fETER)
119.700 m2 = 0.950 % (126.000 + 0.000 + 0.000 + 0. 000)
AR A ) B = HE X (ETIER + RIEER + RATER + fiERER)
119.700 m2 = 0.950 % (126.000 + 0.000 + 0.000 + 0. 000)
PRHIE DR L B = HIE X B X (ETER + fRiEER + RAiEER + MEER)

110. 124 m3 = 0.950 * 0.920 * (126.000 + 0.000 + 0.000 + 0.000)

BB A KE R



T I % &8 & 8 & (8 & %)

RETEEHESS . 27002200 [ LMK EE]

IEES 07 IEEM |P150kEAREIE —+ES 05 —+8%  |EERRERE
JETER JEi i K Y P 7/ s KX

V5w Aoy . SRR = REIE X B4 X (RTEE + REER + RIEER + MEER)

(&A1) 5.985 m3 = 0.950 % 0.050 * (126.000 + 0.000 + 0.000 + 0.000)

B Ay e ) B = HESENIE LR R

(& A ) 5.985 m3 = 5.985

v Aoy . B = A LUE L&
G 110. 124 m3 = 110. 124

Vs Aoy » K = WHIEE R
G 36.792 m3 = 36. 792

-7~ BB A KE R



T I % &8 & 8 & (8 & %)

BREtEEHEES ¢ 27002200

ITHEES 07 IR |P150KkERELSE I—+ES 06 I—tEH  |[BEEEBIAIILFTIE
A & O S T R T SIS

ST i = (ET3ER + RV IER + BEER + fRER) + (GRTFIRANE - S@imdiE) < MRREITE)) X SIErmEE

2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000

S ol = REE X (BTIER + RIEER + TR + MEER)

1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)

H A Bk = (GEHIE X BEA - B X (ETIER + #MEER) + (REE X EA X (RIFIER + REER))

1.203 m3 = ((1.000 * 1.210 — 0.007) * (1.000 + 0.000)) + (1.000 * 1.210 * (0.000 + 0.000))

H g = (@EHIE X B - FEk) X (ETER + MELER)) + GEHIE X B2 X (RELEE + RiiER))

0.302 m3 = ((1.000 * 0.320 — 0.018) * (1.000 + 0.000)) + (1.000 * 0.320 * (0.000 + 0.000))

IS i = R X (ETHER + AR + RER + HRER)

1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)

AR IH o = REE X (BTIER + REER + TR + MEER)

1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)

AR IH Bl = R X (TR + AR + RUER + HRER)

1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)

AT DB L i = fEHE X BEA X (TR + AMEER + AR + fRIER)

1.210 m3 = 1.000 * 1.210 * (1.000 + 0.000 + 0.000 + 0.000)

-8 - BT T A OKIE R




+ I % B R HEE (HHEZ)
RETEEEES . 27002200[ L #05%EHE]
IEES 07 IEAH |Pp150KEAREIS —+&S 06 V=28 |IBEEEIVAIVFEE
JETER JEi i K Y P 7/ s KX
V5w Aoy . SRR = REIE X B4 X (RTEE + REER + RIEER + MEER)
(&A1) 0.050 m3 = 1.000 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
B Ay e ) B = HESENIE LR R
(& A ) 0.050 m3 = 0.050
v Aoy . B = A LUE L&
G 1.203 m3 = 1.203
Vs Aoy » K = WHIEE R
G 0.302 m3 = 0.302

BB A KE R



T I % &8 & 8 & (8 & %)

RETEEEES ¢ 27002200 [ L #%ETE]
IEES 07 IEAH |Pp150KEAREIS —+&S 07 W—rEF  |BRETIIIFIE
JEi T 1] JEi i K Y P 7/ s KX
el . B o= HE X B X (ETER + RIEEE + RAIEER + MEER)
0.400 m3 = 1.000 * 0.400 % (1.000 + 0.000 + 0.000 + 0.000)
A1 9 Bk = (GEHIE X ER - Fmf) X (ETER + MEER)) + (EHE X B X (REER + RIELE))
0.555 m3 = ((1.000 * 0.580 — 0.025) * (1.000 + 0.000)) + (1.000 * 0.580 * (0.000 + 0.000))
PRHIED R L . B o= HE X B X (ETER + RELEE + RIEER + MEER)
0.400 m3 = 1.000 * 0.400 % (1.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) B = HE X B X (ETER + REEE + RAIEER + MEER)
0.580 m3 = 1.000 * 0.580 * (1.000 + 0.000 + 0.000 + 0.000)
Vs Aoy ) B = mHIEE LR
(A1) 0.555 m3 = 0.555

BB A KIE R



T I %K E B EE (B )
RETEEEES ¢ 27002200 [ L #%ETE]
IEES 07 IEAH |Pp150KEAREIS —+&S 09 W—rEH  |EEHEAER
JETER JEi i 5 L i s KX

(ke . B = AMEBmEE - A i

254.150 m2 = 254.150 — 0. 000
HHAEAIE IR | B = AMEIFERE - (s

254.150 m2 = 254.150 — 0. 000
v Aoy . EASIRHIECR = (RMEIRER - ARime) X 2
(& Hm ) 12.707 m3 = (254.150 — 0.000) * 0.050
Vs Aoy ) B = HEEEHIE LR R
(&R ) 12.707 m3 = 12.707

- 11 - Bl A KGE R




T I % &8 & 8 & (8 & %)

BREtEEHEES ¢ 27002200
IEES 08 THEAH |[HKEIE —+ES 01 =2 |EERKEME
JE R J& #o% om0 FH H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
18.000 m = ((9.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
pER | Bl = dHIE X (ELER + AR + ek + MEER)
5.400 m2 = 0.600 * (9.000 + 0.000 + 0.000 + 0.000)
el . B o= HE X B X (ETER + RELEE + RIEER + MEER)
3.402 m3 = 0.600 * 0.630 * (9.000 + 0.000 + 0.000 + 0.000)
A1 ) Bl = HHIE X B X (RIER + KEER + RLE + MELER)
3.186 m3 = 0.600 * 0.590 * (9.000 + 0.000 + 0.000 + 0.000)
HhaEE R ) B = HE X (ETER + RIEER + RAER + fEER)
5.400 m2 = 0.600 * (9.000 + 0.000 + 0.000 + 0.000)
AR ) B = HE X (ETIER + RIEER + RAER + fETER)
5.400 m2 = 0.600 * (9.000 + 0.000 + 0.000 + 0.000)
AR A ) B = HE X (ETIER + RIEER + RATER + fiERER)
5.400 m2 = 0.600 * (9.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L B = HIE X B X (ETER + fRiEER + RAiEER + MEER)

3.402 m3 = 0.600 * 0.630 * (9.000 + 0.000 + 0.000 + 0.000)

BB A KIE R



T I % E &t E E (& & % )
RETEEEES ¢ 27002200 [ L #%ETE]
IEES 08 IEEM [(fKEISE I—+EE 01 W—hEF  |EERKEME
JEi T 1] JEi i K Y P 7/ s KX
PRHIE DR L ) B o= HE X B X (ETER + RIEEE + RAIEER + MEER)
1.188 m3 = 0.600 * 0.220 * (9.000 + 0.000 + 0.000 + 0. 000)
BETHOREL ) i = (EFEERIE X BA) - (FEERIEERE X Z8ER)) X MPHITEE + (FBEEFER X ER) X (LTER + {IFLERE + RELEE + HELER)
0.270 m3 = ((0.600 * 0.000) — (0.600 * 0.000)) * 0.000 + ((0.600 * 0.050) * (9.000 + 0.000 + 0.000 + 0.000))
v Aoy | SEETREIEE = EIE X B4 X (ETEE + KRER + RIEER + MEER)
(AR H) 0.270 m3 = 0.600 * 0.050 % (9.000 + 0.000 + 0.000 + 0.000)
B Ay e ) B = HEEEHIE LR R
(AR H) 0.270 m3 = 0.270
Vs Aoy ) B = WHIE e LR
(A1) 3.402 m3 = 3.402
B A5 e » B = WHIEE R
(A 3.186 m3 = 3.186

BB A KIE R




T I % &8 & 8 & (8 & %)

HETEEEES : 27002200
THEES 08 IHEEM |[lKEIF —+ES 02 —+2F  |RREKELE (Con)
JE ] & # " L @ S #H O H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
pER | B = HE X B X (ETER + REEE + RAiER + MEER)
0.200 m3 = 1.000 * 0.100 * (2.000 + 0.000 + 0.000 + 0.000)
el B o= HE X B X (ETER + RELEE + RIEER + MEER)

2.340 m3 = 1.000 * 1.170 * (2.000 + 0.000 + 0.000 + 0.000)

Hi%EE IR

BB = fEEE X BEA X (ETHER + AR + AR + MRIER)

0.200 m3 = 1.000 * 0.100 * (2.000 + 0.000 + 0.000 + 0.000)

AR A ) B = HE X (ETER + RIEER + RAER + fEER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) B = HE X B X (ETER + REEE + RAiEER + MEER)
1.940 m3 = 1.000 * 0.970 * (2.000 + 0.000 + 0.000 + 0.000)
FIEETHOR L . i = (EFEERIE X BA) - (FEEHEERE X Z8ES)) X MPHITEE + GFREHEER X ER) X (LTER + RIELEE + RELE + HEER)
0.100 m3 = ((1.000 * 0.000) — (1.000 * 0.000)) * 0.000 + ((1.000 * 0.050) * (2.000 + 0.000 + 0.000 + 0.000))
B Ay e ] B = HESEHIE LR R
(BhiEHmH) 0.200 m3 = 0.200

BB A KIE R



B E B E ( & & &)
B EEEES . 27002200[ HH)FEE]
IHEES 08 | THEM [HKEIE W—tES | 02 | —MEH |EMARHEKELE (Con)
JE R & i NV S S
R I%E | [ = e LR
(i H1D) 2.340 m3 = 2.340
— 15 —

BT T AOKIE R




T I % E %+ E E (§ B % )
BHETEES . 27002200[ L) ETE]

THES | 11 | IAAH | BRRREREIE L-bES | o1 | bR (REERRERERS
A & O S T R T SIS

H A i = (GEHIE X BEA - Bl X (ETHER + #MEER) + (REE X EH X (RIFIER + REER))

22.140 m3 = ((0.600 * 0.840 — 0.012) * (45.000 + 0.000)) + (0.600 * 0.840 * (0.000 + 0.000))

AN

P A0

tl\
i

Bk = JRHIEE U L&

(A 22.140 m3 = 22. 140

- 16 - kT A KE R/




T I % &8 & 8 & (8 & %)

RETEEEES ¢ 27002200 [ L #%ETE]
IEES 11 IEEH (BREREREIS I—+EE 02 —+aF  |BRERZERE
JEi T 1] JEi i K Y P 7/ s KX
el . B o= HE X B X (ETER + RIEEE + RAIEER + MEER)
8.400 m3 = 0.600 * 0.400 * (35.000 + 0.000 + 0.000 + 0.000)
A1 9 Bk = (GEHIE X ER - Fmf) X (ETER + MEER)) + (EHE X B X (REER + RIELE))
5.670 m3 = ((0.600 * 0.290 - 0.012) * (35.000 + 0.000)) + (0.600 * 0.290 * (0.000 + 0.000))
PRHIED R L . B o= HE X B X (ETER + RELEE + RIEER + MEER)
8.400 m3 = 0.600 * 0.400 * (35.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L ) B = HE X B X (ETER + REEE + RAIEER + MEER)
6.090 m3 = 0.600 * 0.290 * (35.000 + 0.000 + 0.000 + 0.000)
Vs Aoy ) B = mHIEE LR
(A1) 5.670 m3 = 5.670

BB A KIE R




T I % &8 & 8 & (8 & %)

HETEEEES : 27002200
IEES 12 IEAH |P30KkEXEIS —+&S 01 V=2 |EEERERE - XEMmE
JE R & #o% om0 FH H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
26.000 m = ((13.000 + 0.000 + 0.000 + 0.000) + ((0.950 — 0.950) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
12.350 m2 = 0.950 * (13.000 + 0.000 + 0.000 + 0.000)
el . B o= HE X B X (ETER + RELEE + RIEER + MEER)
7.780 m3 = 0.950 % 0.630 * (13.000 + 0.000 + 0.000 + 0.000)
A1 ) Bk = (GEHIE X ER - Fmf) X (ETER + MEER)) + (EHE X B X (REER + RIELE))
7.377 m3 = ((0.950 * 0.610 - 0.012) * (13.000 + 0.000)) + (0.950 * 0.610 * (0.000 + 0.000))
HhaEE R ) B = HE X (ETER + RIEER + RAER + fEER)
12.350 m2 = 0.950 * (13.000 + 0.000 + 0.000 + 0.000)
AR ) B = HE X (ETIER + RIEER + RAER + fETER)
12.350 m2 = 0.950 * (13.000 + 0.000 + 0.000 + 0.000)
AR A ) B = HE X (ETIER + RIEER + RATER + fiERER)
12.350 m2 = 0.950 * (13.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L B = HIE X B X (ETER + fRiEER + RAiEER + MEER)

7.780 m3 = 0.950 * 0.630 * (13.000 + 0.000 + 0.000 + 0.000)

BB A KIE R



T I % E %+ E E (§ B % )
BHETEES . 27002200[ L) ETE]

ITHEES 12 TIFERH |[P30KEXEISE I—+ES 01 I—taH |EEBRERE - XEHMK
JE TR J& S R N N PR 7 - S SV
PEHIHD B L ) HE = (GEENE X JEA - BmfE) X LTEE) + (JEEIE X BA X (RIEE + LR + MEEER))

2.951 m3 = ((0.950 * 0.240 — 0.001) #* 13.000) + (0.950 * 0.240 * (0.000 + 0.000 + 0.000))

FENMHEDRL Hoik = (MTEERIE X ER) - (REmEERE X REEA) X SFRER + (REmEERE X B X (ETHEE + KMiER + AIREE + SEER)

0.617 m3 = ((0.950 * 0.000) — (0.950 * 0.000)) * 0.000 + ((0.950 * 0.050) * (13.000 + 0.000 + 0.000 + 0.000))

sy E ) SRS = EIE X RA X (RTEE + /IEEE + RIEEE + MEER)
(Bl A 0.617 m3 = 0.950 * 0.050 * (13.000 + 0.000 + 0.000 + 0.000)
Vs Uyt . ol = SELEEIE e LR
(Bl A 0.617 m3 = 0.617
Vs mw Uy ) Ko = WIS LR
(i H1) 7.780 m3 = 7.780
Vs M Uyt ) o = HmEIE2E LR
(HH) 7.377 m3 = 7.377

- 19 - kT A KB R




T I &% & f & &

( 8t &8 ® )

BREtEEHEES ¢ 27002200
TEES 12 IEEM |p30KEXEISR —+&S 02 V—rEH  |EEXERR
JE R & #o% om0 FH H K
HhAE )k . B = (TR + KRV ER + AIER + fEER) + (EFREEIE - S@Eiming) X MEFRETE)) X SE
50.000 m = ((25.000 + 0.000 + 0.000 + 0.000) + ((0.600 - 0.600) * 0.000)) * 2.000
pER | B = HE X (ETIER + RIELER + RAER + fEER)
15.000 m2 = 0.600 * (25.000 + 0.000 + 0.000 + 0.000)
el . B o= HE X B X (ETER + RELEE + RIEER + MEER)
9.450 m3 = 0.600 * 0.630 * (25.000 + 0.000 + 0.000 + 0.000)
A1 ) B = HE X B X (ETER + REEE + RAIEER + MEER)
9.150 m3 = 0.600 * 0.610 * (25.000 + 0.000 + 0.000 + 0.000)
HhaEE R ) B = HE X (ETER + RIEER + RAER + fEER)
15.000 m2 = 0.600 * (25.000 + 0.000 + 0.000 + 0.000)
AR ) B = HE X (ETIER + RIEER + RAER + fETER)
15.000 m2 = 0.600 * (25.000 + 0.000 + 0.000 + 0.000)
AR A ) B = HE X (ETIER + RIEER + RATER + fiERER)
15.000 m2 = 0.600 * (25.000 + 0.000 + 0.000 + 0.000)
PRHIE DR L B = HIE X B X (ETER + fRiEER + RAiEER + MEER)

9.450 m3 = 0.600 * 0.630 * (25.000 + 0.000 + 0.000 + 0.000)
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3.5756 m3 = ((0.600 * 0.240 — 0.001) * 25.000) + (0.600 * 0.240 * (0.000 + 0.000 + 0.000))
BETHOREL ) o = ((MEFEEE X JBER) - (REEHEEE X ZEBES) X MFEER + (FREHEEE X B X (ELER + KRIETER + REE + MEETER)
0.750 m3 = ((0.600 * 0.000) — (0.600 * 0.000)) * 0.000 + ((0.600 * 0.050) * (25.000 + 0.000 + 0.000 + 0.000))
v Aoy | SEETREIEE = EIE X B4 X (ETEE + KRER + RIEER + MEER)
(AR H) 0.750 m3 = 0.600 * 0.050 % (25.000 + 0.000 + 0.000 + 0.000)
B Ay e ) B = HEEEHIE LR R
(AR H) 0.750 m3 = 0. 750
Vs Aoy ) B = WHIE e LR
(i H1) 9.450 m3 = 9.450
B A5 e » B = WHIEE R
(A 9.150 m3 = 9. 150
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